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AS-AD Equilibrium
Starter: Quick Questions
Instructions: Test yourself with the below quick question
1. What determines microeconomic equilibrium in a market?
…………………………………………………………………………………………………………………………………………………………………………………… 
……………………………………………………………………………………………………………………………………………………………………………………
2. Given your answer to question 1, what determines macroeconomic equilibrium in an economy?
…………………………………………………………………………………………………………………………………………………………………………………… 
……………………………………………………………………………………………………………………………………………………………………………………
Presentation 1 – Macroeconomic Equilibrium
Complete the activities below so as to have a complete set of notes:
Definition: Macroeconomic Equilibrium
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
It occurs where:
……………………………………………………………………………………………………………………………………………………………………………………
At this point, there will be no tendency to move along any of the curves, hence no ∆PL, no ∆Y
Everything that has been produced by firms, has been purchased and consumed by households. There is no excess demand or excess supply
Diagrams: Macroeconomic Equilibirium
Annotate the level of output and price level for your diagrams
 Short Run Equilibrium		   Classical Long Run Equilibrium		Keynesian Long Run Equilibrium	
	
	
	



Presentation 2 – Short Run Equilibrium
Complete the activities below so as to have a complete set of notes:
Definition: Short Run Equilibrium
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
This level of output is not at YFE (unless by coincidence)
Brainstorm: Factors affecting short run equilibrium

Factors affecting SR Equilibrium







Diagram: Different Short run Equilibria











Definition: Output Gaps
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
Negative Output Gap: ____________________________
Positive Output Gap: ____________________________
Key Question: How can there be a positive output gap?
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
Diagrams: Sketch the below diagrams showing output gaps, including an LRAS curve
Annotate your diagrams showing actual output, potential output, the consequent output gap and price level
	Positive output gap with Classical LRAS
	Negative output gap with Classical LRAS

	Positive output gap with Keynesian LRAS
	Negative output gap with Keynesian LRAS


Extension: Would your Negative output gap with Keynesian LRAS exist in the long run as well? How might your graph look different if the opposite was true?
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
[image: ][image: ]Task: Equilibrium and the Changing Conditions of SRAS & AD
Presentation 3 – Classical Long Run Equilibrium
Complete the activities below so as to have a complete set of notes:
Definition: Classical Long Run Equilibrium
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
This level of output is always at YFE if the LRAS is classical

Brainstorm: Factors affecting classical long run equilibrium


Factors affecting Classical LR Equilibrium








Diagram: Different Classical Equilibria












Task: Effects of Changes to Equilibrium - Classical
Instructions:
· For the below changes show what happens in an AS AD Diagram using CLASSICAL LRAS
· Explain impacts this change will have on the macroeconomic objectives with reference to the diagram
	Increase in Aggregate Demand












	Fall in Aggregate Demand

	Impacts on objectives & annotations
Economic growth: 
Unemployment: 
Inflation: 
Balance of Payments CA: 
	Impacts on objectives & annotations
Economic growth: 
Unemployment: 
Inflation: 
Balance of Payments CA: 

	Increase in Aggregate Supply












	Fall in Aggregate Supply

	Impacts on objectives & annotations
Economic growth: 
Unemployment: 
Inflation: 
Balance of Payments CA: 
	Impacts on objectives & annotations
Economic growth: 
Unemployment: 
Inflation: 
Balance of Payments CA: 



Presentation 4 – Keynesian Long Run Equilibrium
Complete the activities below so as to have a complete set of notes:
Definition: Keynesian Long Run Equilibrium
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
This level of output can be at YFE if AD is high, but unemployment can also persist, and the long run level of output can be below potential too (a negative output gap).

Brainstorm: Factors affecting Keynesian long run equilibrium



Factors affecting Keynesian LR Equilibrium







Diagram: Different Keynesian Equilibria












Task: Effects of Changes to Equilibrium - Keynesian
Instructions:
· For the below changes show what happens in an AS AD Diagram using KEYNESIAN LRAS
· State the impacts this change will have on the macroeconomic objectives
· N.B Start from an initial Equilibrium on the middle of the Keynesian LRAS curve, where the elasticity is in the process of changing from elastic to inelastic
	Increase in Aggregate Demand












	Fall in Aggregate Demand

	Impacts on objectives & annotations
Economic growth: 
Unemployment: 
Inflation: 
Balance of Payments CA: 
	Impacts on objectives & annotations
Economic growth: 
Unemployment: 
Inflation: 
Balance of Payments CA: 

	Increase in Aggregate Supply












	Fall in Aggregate Supply

	Impacts on objectives & annotations
Economic growth: 
Unemployment: 
Inflation: 
Balance of Payments CA: 
	Impacts on objectives & annotations
Economic growth: 
Unemployment: 
Inflation: 
Balance of Payments CA: 



MCQs
1. If an economy is operating at full employment and wishes to expand output, which of the following is most likely to let it achieve an expansion of output without inflation? 
A) Increase in interest rates 
B) Increase in welfare reform 
C) Increase in corporation tax 
D) Increase in the value of the Pound

2. In an economy experiencing greater inflation due to decreasing interest rates, what will be the impact on Real Output and Price Level of an increase in the amount spent on Research & Development. 
A) Real Output falls Price level rises 
B) Real Output rises Price level falls 
C) Real Output falls Price level falls 
D) Real Output rises Price level rises

[image: Chart

Description automatically generated]3. The diagram below shows an economy operating at point A. This economy must be experiencing 
A) Demand Pull Inflation 
B) Cost Push Inflation 
C) Demand deficient unemployment 
D) Economic growth

4. If an economy is operating at full employment. Which of the following is most likely to lead to an increase in national income without an increase in inflation. 
A) An increase in consumption 
B) An increase in interest rates 
C) A depreciation of the currency 
D) An increase in education and training 

Assignment: Macroeconomic equilibrium
Short-answer questions (Section A)
1. The diagram below shows the aggregate demand (AD) and short-run aggregate supply (SRAS) curves for a developed economy.
[image: ]







What would be the most likely effect of a fall in commodity prices on the country’s average price level and real output?

	
	Average Price Level
	Real output

	A
	Fall
	Rise

	B
	Rise
	No change

	C
	Rise
	Fall

	D
	Fall
	No change


[1]

2. The aggregate demand (AD) and short-run aggregate supply (SRAS) diagram below represents the Indian economy in equilibrium at real output Y and average price level P.
[image: ]

Which of the following is likely to happen to the position of the curves following a 23% depreciation of the Indian currency from May to September 2013?

A	Shift of AD curve to the right and SRAS curve to the left
B	Shift of AD curve to the left and SRAS curve to the right
C	No shift of the AD or SRAS curves
D	Both AD and SRAS curves shift to the left
[1]

3. Household consumption in the Netherlands fell by 4.4% between 2008 and 2012. The impact of reduced household consumption, ceteris paribus, will be a:

A	Rise in imports and a fall in the average price level
B	Fall in imports and a rise in the average price level
C	Fall in the average price level and a rise in real output
D	Fall in the average price level and a fall in real output
[1]


4. The diagram shows the aggregate demand (AD) curve and long-run aggregate supply curve (LRAS) for an economy.

[image: ]
What would be the long-run effect of a significant improvement in the quality of education and training on the country’s price level and real output? 
[image: ]


[1]

5. Which one of the following would be most likely to lead to a rise in a developed economy’s price level and a fall in its real output?

A	An increase in investment
B	A reduction in indirect taxes
C	An increase in the productivity of the workforce
D	An increase in world commodity prices
[1]
6. In 2010, Brazil’s GDP growth rate was 7.5%. In 2012 it fell to 0.9%. The most likely cause of this fall in Brazil’s GDP growth rate was:

A	A fall in Brazilian exports
B	Increased spending by Brazilian consumers
C	Increased Brazilian government spending on transport infrastructure
D	A fall in Brazilian imports
[1]
7. Explain what is meant by an ‘output gap’. Illustrate your answer with an AD/AS diagram.
[4]






8. In August 2013 Bulgaria’s consumer price index indicated that the average price level had fallen by 0.7% compared with the previous year. Which one of the following is most likely to account for this change in average prices?

A	A depreciation of the Bulgarian currency
B	A decrease in the price of foodstuffs in Bulgaria
C	A reduction in direct taxation in Bulgaria
D	An increase in consumption in Bulgaria
[1]
Data response (Section B)
Extract 1
Since the 1980s, economic policy in many countries has focussed on measures to increase aggregate supply. Despite the success of some of these measures, supply-side shocks such as increases in oil prices have often had the reverse effect. More recently, many governments have been trying to reduce their budget deficits by making steep cuts in public expenditure which, in the case of the UK, have fallen heavily on capital expenditure.
1. With the aid of an aggregate demand and aggregate supply diagram, discuss the likely effects of a sharp increase in oil prices.
[12]

2. Discuss the likely effects of a decrease in public expenditure on real output and the price level. Refer to the multiplier in your answer.
[12]

3. Productivity has increased more rapidly in the USA than in the UK. Illustrating your answer with an aggregate demand and aggregate supply diagram, discuss the likely effects of this increase in US productivity.
[12]

.
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Changes in Economic Conditions

Causality

In 2008 & 2009 UK banks greatly reduce their lending to businesses
in what is called the Credit Crunch

In his first Budget on 22 June 2010 the Chancellor, George Osborne,
announced that the main rate of corporation tax would be cut by
1% each year over the period 2011 to 2014, from 28% to 24%. In
addition the small profits rate would be cut by 1% to 20% from April
2011,

‘As part of a push to increase apprenticeships the government has
put an Apprenticeship Levy on large companies in the UK. The fee
will be charged at a rate of 0.5% of an employer’s paybill and the
money will go to funding apprenticeships.

By 2026 the first phase of High Speed 2 will complete, this will allow
UK companies to transport their goods around the country more
cheaply and increase worker productivity due to lower commuting
times.

In the 2014 budget direct lending from government to UK
businesses to promote exports doubled to £3bn

Then the Chancellor announced that most government departments
to see budgets cut by 1% in each of next two years. Schools and NHS
will be protected. £11.5bn in further cuts earmarked in 2015-16
Spending Review, up from £10b

In the 2015 budget a new National Living Wage was created and will
reach £9 per hour by 2020, compulsory for those over 25 - that is
60pc of median earnings.

In the 2016 budget the tax-free allowance will be raised to £11,500
and the 40p tax threshold will increase to £45,000

In the 2017 budget the Chancellor Philip Hammond announced
£75m for Al, £400m for electric car charge points, £160m for 5G
technology, and reforms to progress on-road testing to get
driverless cards on UK roads by 2021.
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